



For example:

63 divided by 5 is worked out by:

63                (put the 1st number at the top)

        - 50 (10 X 5)       (subtract a chunk – this is quite often 10 times the number you are dividing by)



           13 

     (work out the subtraction using column subtraction)



        - 10  (2 X 5)
     (subtract another chunk)

3

     (if the bottom number is not zero, then this is your

                        remainder)

Add up the chunks (10 plus 2 chunks of 5) and include any remainder if you have one.

The answer here is 12 remainder 3.

Finally check your answer by performing the inverse operation: i.e. (12 X 5) + 3 should equal 63!

Work out the following divisions using the above method (show all your workings and check each answer using the inverse operation!

A. 78 ÷ 3




B. 48 ÷ 3



C. 97 ÷ 4
D.  68 ÷ 67 =




E. 143 ÷ 7



F. 205 ÷ 6 (use larger chunks)
****Challenge**** Make up a 3 word problems that requires a division to be done using the above method!!  Write them on the back of this sheet and then work them out!
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